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What is maximum value of work order under any zonal contract which can be sanctioned by
Divisional authority ?
A. 2.5 Lakh B. 5.0 lakhs C. 10.0 lakh D. None of above

14. Elcometer uses for measuring ?
a. Alcohol % in breath of running staff
b. Wet thickness of paint layer.
c. Alcohal % in blood sample of running staff.
d. Dry thickness of paint layer

15.
A. 0.1 mg/liter B.
C 0.5mg/liter D.
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32, What should be the desirable thickness of each layer
compaction of any type of soil ?
A. 150-250mm B. 400-500 mm
C. 200-300 mm D. 300-500 mm

in earth work to get homogeneous

33.  Which statement is false ? : S
a. OMC is required to get MDD ; an
b. Poorly graded sand and gravel with C i be use in soil bank.
c. Moisture content play key role in co 1 clayey soil.

d. : '
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None of above
«
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